gogopoogoogoIlogbofoooddbl ooooooooo

19920 100 160 (0)OOOODODOOD 0000000
[1],[2],[3]000000000. 000000000000, 0,00,0000000000.

[1] g 0000000000 Lie0O0O0OO.
(1)gO [e,f]=f00000 e fO000OOOO.
(2)g0000,000000 {0}00000000.
(3)g 000000 Le 000000000, explicit 0000000

(adjoint 0000000 ... )
(4)g 0000 derivation DO000,zcg00000,D=adz 000000
0o,

[2] LieOD g=gl(n,R) O Killing 000 BOOO.

(1) B(X,Y) = 2ntr(XY) —2(tr X)(rY) 00DODOO0DO.

(2) g = Alt(n,R) 4+ Sym(n,R), OO B(Alt(n,R), Sym(n,R)) = {0} 0O OO0,
0000 g5 X — B(X,X) O (Sylvestee 0000000)0000000. OO
O, Alt(n,R) = {0000 }, Sym(n,R) = {000D }.

(3)b:={(2j) €g;25 =0 fori>;}000. b0 g000 Lie 00000
00000, 00, Killing 0O BOOOO 600000 0000, OO0,
bt :={Xe€g;B(X,Y)=0 forallY €b}.

(3] LieOO g=sl(2,R)0000.

(H)gOOO h,z,y OOOOO [hyx]=2x[hy]=—-2y [z,y]=h 00000
goggooog.

(2) g0 ideala D (1)0 h, 2,y 0000000000000, a=g000000
OO000,g0 simple DO0OOODOODO.

(ah+pfr+yyecaO0000, [[ah+PBx+yy,x],2] 0000000 ... )
(3)0 0000000000000 000000D000 VOOO. 00,7 :g—
g(V) D Lie 00 g 0000000, 000 X €g0000,000 n(X) O
skew-Hermitian 000 00000. 000000 7 0 trivia,b, 0000 #w(X) O
gooooooooobbbbn.

(m O non-trivial OO, 7(g) = g. 00000 Kiling OOOODODODOOOO.)
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